



Vendor Ranking

Page 1 of 1

Letting: 03201217

December 17, 2020 02:00

Contract: E3U39-R0

PM

District: District 3

Counties: LEON

Call Order: 006

Fed Aid No: N/A

Ted Ald No. N/A

Contract Time: 12/31/21 COMPLETION DATE

Contract Desc: MIDWAY MAINTENANCE - LANDSCAPE MAINTENANCE

Project(s): 42215127239 (*)

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AMG OPERATIONS, LLC.	Responsive	Winning bid	\$94,075.00	100.00%
2	T & M LAWN-FENCE SERVICE INC	Responsive	Non-Winning Bid	\$103,810.00	110.35%
3	PINEY GROVE NURSERY AND LANDSCA	Responsive	Non-Winning Bid	\$172,205.00	183.05%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY





Tabulation of Bids

Page 1 of 3

Letting: 03201217 December 17, 2020 **Call Order:** 006 **Contract:** E3U39-R0

District: District 3 Counties: LEON Fed Aid No: N/A

Contract Time: 12/31/21 COMPLETION DATE Project(s): 42215127239 (*)

Contract Descr: MIDWAY MAINTENANCE - LANDSCAPE MAINTENANCE

The Improvements under this Work Document-driven Contract consist of routine landscape maintenance at two (2) locations along SR 8 (Interstate 10) in Leon County; one at Interchange 196 (SR 263, Capital Circle Northwest) and the other at Interchange 199 (SR 63/US 27). In an effort to improve and maintain the overall condition, activities may include but are not limited to; mowing of turf on shoulders, in pond bottoms, on slopes; maintenance of areas such as young planted/established pines and steep slopes to include removal of undesirable undergrowth including woody underbrush, fallen limbs; and litter removal of all unpaved surfaces within the right of way. Work activities and locations will be specified by Work Document. Maintenance of Traffic and Mobilization are incidental to the pay items listed.

	No / Item ID Description	Alternate	Quantity Units	(1) AMG OPER	ATIONS, LLC.	(2) T & M LA SERVIO			OVE NURSERY ANDSCA
	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SLOPE MOWI	NG (AC					
0005	0580 8 10		500.000	12.00000	6,000.00	5.00000	2,500.00	40.00000	20,000.00
	CAPE- TREE NG/TRIMMING	, MANUAL, 1 TO	A3 "						
0010	E104 4 2		166.000	50.00000	8,300.00	120.00000	19,920.00	65.00000	10,790.00
MOWIN	IG (SLOPE)		AC						
0015	E104 4 4		792.000	40.00000	31,680.00	45.00000	35,640.00	65.00000	51,480.00
MOWIN	IG (INTERMED	DIATE MACHINE	≣) AC						
0020	E104 50		39.000	40.00000	1,560.00	400.00000	15,600.00	65.00000	2,535.00
WEED (CONTROL MA	NUAL	AC						
0025	E110 30		1,680.000	12.00000	20,160.00	10.00000	16,800.00	5.00000	8,400.00
LITTER	REMOVAL		AC						
0030	E580 3 1		100,000.000	0.20000	20,000.00	0.10000	10,000.00	0.50000	50,000.00
	CAPE MAINTE /AL, MANUAL)	ENANCE (WEEL) SF						



01/20/2021

Tabulation of Bids

Page 2 of 3

Letting:	03201217	December 17,	2020 Ca l	ll Order: 006		Contract:	E3U39-R0	
	ine No / Item ID Alternate		(1) AMG OPERATIONS, LLC.		(2) T & M LAWN-FENCE SERVICE INC		(3) PINEY GROVE NURSERY AND LANDSCA	
() indicates item	is bid as Lump Sum	Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SLOPE MOWING (AC								
0035 E580173 BED PREPARATIO	ON & MULCHING	7,500.000 SY	0.45000	3,375.00	0.10000	750.00	3.60000	27,000.00
0040 E580336 PRUNING AND TR		40.000) EA	75.00000	3,000.00	65.00000	2,600.00	50.00000	2,000.00
0001 SLOPE	MOWING (AC)	Section Totals:		\$94,075.00 [°]		\$103,810.00 [°]		\$172,205.00
	Contract G	rand Totals:		\$94,075.00		\$103,810.00		172,205.00



01/20/2021

Tabulation of Bids

Page 3 of 3

Letting: 03201217 December 17, 2020 **Call Order:** 006 **Contract:** E3U39-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.